



# REPUBLIC OF THE PHILIPPINES Department of Health

## NATIONAL CENTER FOR MENTAL HEALTH



#### BIDS AND AWARDS COMMITTEE

Telephone No. 8531-9001 loc. 239

Telefax No. 8531-8318

E-mail: bac@ncmh.gov.ph

Website: www.ncmh.gov.ph

RFQ NO.: SVP2025-05-003 Date: May 30, 2025

# REQUEST FOR QUOTATION

Company/Business Name:	
Address:	
Business/Mayor's Permit No.:	
TIN:	
PhilGEPS Registration Number:	

The National Center for Mental Health (NCMH), through its Bids and Awards Committee (BAC), intends to procure the Supply and Delivery of Activity Therapy Section (ATS) Supplies CY 2025 (Line Items) through Section 53.9 (Negotiated Procurement – Small Value Procurement) of the 2016 Revised Implementing Rules and Regulations under Republic Act No. 9184.

Please quote your lowest price on the items herewith attached, subject to the General Conditions, and stating the shortest time of delivery. Submit your <u>sealed quotation</u> using this form duly signed by your authorized representative together with the documentary requirements **not later than** *June 5, 2025, 4:00 PM*. Kindly transact / address directly at the BAC Secretariat Office. For inquiries, you may call 8531-9001 local 239 or 1823.

Respectfully y

RUSSELLE SP. OLASO, MPA

Head, BAC Secretariat

Nueve de Febrero St., Brgy. Mauway, Mandaluyong City

Tel: (02) 8531-9001 loc. 239, 240, 242

Telefax: (02) 8531-8318

Email: <u>bacncmh@yahoo.com</u> Website: <u>www.ncmh.gov.ph</u>

You may also visit the following websites:

- www.philgeps.gov.ph for the PhilGEPS posting (access through your supplier/bidder account)
- https://ncmh.gov.ph National Center for Mental Health Official Website

Thank you and we look forward to your participation.

JERRY C. RODRIGUEZ, MGM-ESP Chairperson, NCMH-BAC for Equipment

#### **General Conditions:**

- 1. Bid offer must meet the minimum technical specifications.
- 2. Delivery period shall be within a maximum of <u>Seven (7) calendar days</u> upon receipt of approved Notice to Deliver (NTD).
- 3. Price validity and payment terms shall be for a minimum period of thirty (30) calendar days.
- 4. Documentary requirements current and valid:
  - a. Mayor's / Business Permit (Note: A recently expired Mayor's / Business permit together with the Official Receipt as proof that the prospective bidder has applied for renewal within the period prescribed by the concerned local government unit, shall be accepted. Section 24.1 of RA 9184 and its revised 2016 IRR.)

#### b. PhilGEPS Certificate

- c. Annual Income Tax / Business Tax Return (with corresponding eFPS Filing Reference Number and successful payment page or its equivalent proof of payment, if applicable)
- d. Original and Notarized Omnibus Sworn Statement

  (For Corporation Attached Corporate Secretary Certificate)

  (For Sole Proprietorship Attached Special Power of Attorney)
- e. Brochure or Picture with complete specification of the items to be offered.
- 5. Failure to comply with the stated general conditions constitutes a disqualification.
- 6. The NATIONAL CENTER FOR MENTAL HEALTH reserves the right to reject any or all bids, to waive any defect, and accept such bids advantageous to the government, and that it reserves the right to rescind the contract and debar the dealer from entering in future biddings of the center.

#### Notes:

- All documents must be **Certified True Copy (CTC)**. Bidder's certification is acceptable.
- On documents (licenses, certificates and/or registrations) for renewal, bidders are required to attach Official Receipt (OR) as proof of payment.
- Documentary requirements must be arranged in the above sequence/order & placed in a folder. This form (RFQ) must be in a sealed envelope. Both folder (documentary requirements) and envelope (price quotation) should be placed on an envelope of any color with proper label as shown below. Bidder may opt to use their own company letterhead using the format below.
- The sealed envelope must be submitted to the Procurement Section/BAC Office of the National Center for Mental Health (NCMH) on or before June 5, 2025 or in case the deadline for each activity falls on a non-working day (i.e. Saturday and Sunday), legal holiday, or special non-working holiday, or other nonworking days duly declared by the President, Governor, Mayor or other Government Official authorized to make such declaration, the deadline shall be the next working day. (Sec. 38.2 of RA 9184 and its 2016 revised IRR)

## MARKING / LABEL OF PRICE QUOTATION

1. Sealed Price Quotation Envelope:

Request for Quotation

Request for Quotation
Supply and Delivery of Activity Therapy Section (ATS) Supplies CY 2025
(Line Items)
Item/s bid:
1.
2.
N. C.C. (DUI)
Name of Company / Bidder:
Tel. no.:
Fay no ·

After having carefully read and accepted the General Conditions, I/we submit our quotation/s for the item/s below:

### **INSTRUCTION:**

- 1. Review each item in the list provided below.
- 2. **Check the "Yes"** box if you comply with the NCMH specification for that item. If you do not comply, **check the "No"** box.
- 3. In the "Offer/Remarks" section, input the brand and any other specifications of your offered item.
- 4. If the item is not applicable or not available, indicate "N/A" in the "Offer/Remarks" section.

Ite m No.		Item Description	Yes	No	REMARKS / OFFER/ BRAND
	PHYSICAL (Item No. 1-	REHABILITATION SUPPLIES AND EQUIPMENT 9)			
	Core Stabili commercial burst resista non-skid bas	ty Ball Trainer: heavy duty; professional and use quality; at least 65cm diameter (26"); latex free; nce materials; atleast 25.4cm (10") when fully inflated; se; textured dome with notches and quadrants; can hold g (300lbs); with handles; blue or gray; with hand pump;			
1	Feature/ material made	heavy duty; professional and commercial use quality; latex free; burst resistance materials, non-skid base,; textured dome with notches and quadrants, with handles, with hand pump			
	Diameter	least 65cm			1
	Size	At least 25.4cm (10") when fully inflated			1
	Weight capacity	can hold at least 155kg (300lbs)			
	Color	Blue or Gray			
	Warranty	1 yr.			

[	Feature/				1	
	material					
	made	Continuous loop, high resistance				
	Thickness	At least 4.5mm				
	Size	105cm long				
	Weight	5-17lbs (2.25kg-80kg)				
	TENS/EMS	machine: 2(dual) channels; LCD display; 9V battery;				
	DC 9V adapt	tor; Lead wire; sticky pad/ electrode; at least 3 modes; d case; manual; 1 year warranty				
3	Feature/	u case, manual, 1 year warranty	-			
3	material	Dual channel, with sticky pad/ electrode, with at least 3				
	made	modes, pouch or hard case; manual				
İ	Display	LCD				
	Power					
	Source	9V battery or DC 9V adaptor				
		non-woven fabric electrode pads; self-adhesive; lower				
4	Feature/	eusable; dry output resisting	-			
<b>T</b>	material	non-woven fabric electrode pads; self-adhesive; lower				
	made	impedance; reusable; dry output resisting				
		umbell set/ barbell/ kettlebell/ push-up/ non-slip				
		duty; collar knot; kettlebell handle; kettlebell base;				
Ì	Feature/	east 40cm connector rod; weights plates 1.2kg-2kg				
5	material	6in1 design dumbell set/ barbell/ kettlebell/ push-up/ non-slip handle; heavy duty; collar knot; kettlebell				
ļ	made	handle; kettlebell base			,	
ŀ	Weight of					
	base	10kg-30kg				
	Weight of plates	weights plates 1.2kg-2kg				
	1 3	Pack: Cervical size, 60 cm length; silica gel or				
		filling; White				
6	Size	Cervical Size				
U	Length	60 cm				
	Color	White				
	Hydrocollator Pack: Half-size, 5"x12"; silica gel or bentonite clay filling; White					
7	Size	Trais sing 5th 10th				
	SIZE	Half-size, 5"x12"				
	Color	White				
:	Step-up platform and Riser: 65-70cm length; 25-30cm width; adjustable height 10-14 cm; heavy duty; black and silver color					
8	length	65-70cm				
	width	25-30cm				
-	Height	10-14 cm				
	Color	black and silver color				
			<u> </u>			

	1				
	(pink & blue non-slip, ant	cle mat, 100cm x 100cm x 1"; heavy duty; dual color ); interlocking; home and commercial use; odorless; i-tear flooring; 4pcs/ set			
9	Feature/ material made	Heavy duty, interlocking; home and commercial use, odorless; non-slip, anti-tear flooring; 4pcs/ set			
	Diameter	100cm x 100cm x 1";			
	Color	dual color (pink & blue)			-
		ONAL, SPORTS, AND WELLNESS SUPPLIES			
	(Item No. 10-				
	Jumping rop	pe, PVC rope, Length: 287cm, tangle free			
10	Feature/ material made	PVC rope, tangle free			
	Length	287cm			
***************************************	Twister, app	rox 24.5cm diameter, exercise gear, any color			A STATE OF THE PARTY OF THE PAR
11	Feature/ material made	exercise gear, any color			-
	Diameter	24.5cm			-
	Yoga mat, 61	ft x 2 ft, any color			
12	Size	6ft x 2 ft	· · · · · · · · · · · · · · · · · · ·		-
	Color	any color	······································		-
	Jigsaw Puzzl	es 120pcs, any design, card board made			
13	Feature/ material made	120pcs, any design, card board made			
		es 260pcs, any design, card board made			
	Feature/	200 pcs, any design, card board made			
14	material made	260pcs, any design, card board made			
	Jigsaw Puzzl	es 500pcs, any design, card board made			
15	Feature/ material made	500pcs, any design, card board made			,
	Jigsaw Puzzl	es 1000pcs, any design, card board made			
16	Feature/ material made	1000pcs, any design, card board made			
		nd Volleyball Ball storage rack, mobile frame, stainless			
į		x 140cm x 35cm, with wheels.	}		
17	Feature/				
1,	material made	mobile frame, stainless steel, with wheels			
	Size	112cm x 140cm x 35cm		-	
	26cmx21cmx	(dementia puzzles for elderly) dimensions: 4cm, material-cardboard, number of puzzle pieces 100 approximately 3.5"in width , puzzle size when			
	complete37.5				
18	Feature/ material made	material-cardboard, number of puzzle pieces 100 each piece, puzzle size when complete37.5cm x 30 cm			
ļ	Dimensions	26cmx21cmx4cm		<del>                                     </del>	
}	Width	3.5"			
	· ,		l		L

	Washing Do	and ( David Co. Al-Line D. M. ( )	1	
		ard (Busy Board for Alzheimers Patients) 6 gadgets		
		asa latch , light switch, barrel bolt; board color white		
19	Feature/			
	material	6 gadgets chain lock, sasa latch, light switch, barrel bolt		
	made		1	
	Color	board color white	-	<del></del>
	Coloring boo	k for Seniors/ Sets of 4 Books( color by numbers,		
		ng, animals, flowers, food, objects) Paper bound, page		
		40 pages/book		
20	Feature/			
20	material	Color by numbers, flower coloring, animals, flowers,		
	made	food, objects, paper bound, 40 pages/book		
	Page Size	8"x11"		-
	Conton Crists	-11-20 to (E(		
21		et set 30 in (76cm) cricket stumps 33in.(84cm) cricket		
	bat, incrediba	alls, carry bags		
	Feature/	20 :- (76):-1 22: (04): 1		
	material	30 in (76cm) cricket stumps 33in.(84cm) cricket bat,		
	made	incrediballs, carry bags		
	Croquet Set;	36' Original mallerts filled with black cushion grips		
		68; Pro 16 natch balls, weight 1lb, 3 5/8 diameter.		
22	Feature/	Original mallarts filled with block anching arise fitted		
	material	Original mallerts filled with black cushion grips fitted,		
	made	3lbs*368; Pro 16 natch balls, weight 1lb, 3 5/8 diameter.		
	NCMH BANI	SUPPLIES		
	(Item No. 23-4	13)		
	Clarinet Reed	s, Bb Clarinet size #3 , made from Cane tubes a raw		
ĺ	materials form	n making reeds came from natural plant grow on cane	]	
22	Feature/	made from Cane tubes a raw materials form making		
23	material	reeds came from natural plant grow on cane		
	made			
	Size	Bb Clarinet size #3		
		s, Bb Clarinet size #2 1/2, made from Cane tubes a		
	<b>.</b>	form making reeds came from natural plant grow on		
	cane			
24	Feature/	made from Cane tubes a raw materials form making		
	material	reeds came from natural plant grow on cane		
]	made			
	Size	Bb Clarinet size #2 1/2		
	Clarinat Dasil	s, Bb Clarinet size #3 1/2, made from Cane tubes a		
		form making reeds came from natural plant grow on		
	cane Feature/			-
25	material	made from Cane tubes a raw materials form making		
	made	reeds came from natural plant grow on cane		
	HIGH			
	Size	Bb Clarinet size #3 1/2		-  
	Alto Savanhar	ne Reeds, Eb Alto Sax size #2 1/2, made from Cane		
-		aterials form making reeds came from natural plant		
	grow on cane	acciming to the maning reeds came atom mathem bigut		
_	Feature/			-
26	reature/ material	made from Cane tubes a raw materials form making		
	made	reeds came from natural plant grow on cane		
	Size	Eb Alto Sax size #2 1/2		

Alto Saxophone Reeds, Eb Alto sax size #3, made from Cane tubes a raw materials form making reeds came from natural plant grow on cane  Feature/ material made  Size Eb Alto sax size #3  Soprano Saxophone Reeds, Bb soprano sax size #2 1/2, made from Cane tubes a raw materials form making reeds came from natural plant grow on cane  Feature/ material made from Cane tubes a raw materials form making reeds came from natural plant grow on cane  Feature/ material made from Cane tubes a raw materials form making made reeds came from natural plant grow on cane  Size Bb soprano sax size #2 1/2  Tenor Saxophone Reeds, size #2 1/2, made from Cane tubes a raw materials form making reeds came from natural plant grow on cane  Feature/ material made from Cane tubes a raw materials form making reeds came from natural plant grow on cane  Feature/ material made from Cane tubes a raw materials form making reeds came from natural plant grow on cane  Size size #2 1/2  Valve Oil for Brass Pistol or Rotor instrument, 2fl oz (59ml) to 80ml (Trumpet, Baritone, Tuba)  Volume 2fl oz (59ml) to 80ml  Rotor oil for Frenh Horn instrument net 59ml to 80ml  Trombone Slide Lubricant for trombone instruments net 30ml to
cane Feature/ material made Size Eb Alto sax size #3  Soprano Saxophone Reeds, Bb soprano sax size #2 1/2, made from Cane tubes a raw materials form making reeds came from natural plant grow on cane  Feature/ material made from Cane tubes a raw materials form making reeds came from natural plant grow on cane  Feature/ material made from Cane tubes a raw materials form making reeds came from natural plant grow on cane  Size Bb soprano sax size #2 1/2  Tenor Saxophone Reeds, size #2 1/2, made from Cane tubes a raw materials form making reeds came from natural plant grow on cane  Feature/ material made from Cane tubes a raw materials form making reeds came from natural plant grow on cane  Feature/ material made from Cane tubes a raw materials form making reeds came from natural plant grow on cane  Size size #2 1/2  Valve Oil for Brass Pistol or Rotor instrument, 2fl oz (59ml) to 80ml  (Trumpet,Baritone,Tuba)  Volume 2fl oz (59ml) to 80ml  Rotor oil for Frenh Horn instrument net 59ml to 80ml  Volume 59ml to 80ml
Feature/ material made from Cane tubes a raw materials form making reeds came from natural plant grow on cane  Size Eb Alto sax size #3  Soprano Saxophone Reeds, Bb soprano sax size #2 1/2, made from Cane tubes a raw materials form making reeds came from natural plant grow on cane Feature/ material made from Cane tubes a raw materials form making reeds came from natural plant grow on cane  Size Bb soprano sax size #2 1/2  Tenor Saxophone Reeds, size #2 1/2, made from Cane tubes a raw materials form making reeds came from natural plant grow on cane  Feature/ material made from Cane tubes a raw materials form making reeds came from natural plant grow on cane  Feature/ material made from Cane tubes a raw materials form making reeds came from natural plant grow on cane  Size size #2 1/2  Valve Oil for Brass Pistol or Rotor instrument ,2fl oz (59ml) to 80ml  Volume 2fl oz (59ml) to 80ml  Rotor oil for Frenh Horn instrument net 59ml to 80ml  Volume 59ml to 80ml
Size   Eb Alto sax size #3
Size Eb Alto sax size #3  Soprano Saxophone Reeds, Bb soprano sax size #2 1/2, made from Cane tubes a raw materials form making reeds came from natural plant grow on cane  Feature/ material made from Cane tubes a raw materials form making reeds came from natural plant grow on cane  Size Bb soprano sax size #2 1/2  Tenor Saxophone Reeds, size #2 1/2, made from Cane tubes a raw materials form making reeds came from natural plant grow on cane  Feature/ material made from Cane tubes a raw materials form making reeds came from natural plant grow on cane  Feature/ material made from Cane tubes a raw materials form making reeds came from natural plant grow on cane  Size size #2 1/2  Valve Oil for Brass Pistol or Rotor instrument ,2fl oz (59ml) to 80ml  (Trumpet,Baritone,Tuba)  Volume 2fl oz (59ml) to 80ml  Rotor oil for Frenh Horn instrument net 59ml to 80ml  Volume 59ml to 80ml
Soprano Saxophone Reeds, Bb soprano sax size #2 1/2 , made from Cane tubes a raw materials form making reeds came from natural plant grow on cane  Feature/ material made from Cane tubes a raw materials form making reeds came from natural plant grow on cane  Size Bb soprano sax size #2 1/2  Tenor Saxophone Reeds, size #2 1/2 , made from Cane tubes a raw materials form making reeds came from natural plant grow on cane  Feature/ material made from Cane tubes a raw materials form making reeds came from natural plant grow on cane  Size size #2 1/2  Valve Oil for Brass Pistol or Rotor instrument ,2fl oz (59ml) to 80ml  (Trumpet,Baritone,Tuba)  Volume 2fl oz (59ml) to 80ml  Rotor oil for Frenh Horn instrument net 59ml to 80ml  Volume 59ml to 80ml
Cane tubes a raw materials form making reeds came from natural plant grow on cane  Feature/ material made from Cane tubes a raw materials form making made reeds came from natural plant grow on cane  Size Bb soprano sax size #2 1/2  Tenor Saxophne Reeds, size #2 1/2, made from Cane tubes a raw materials form making reeds came from natural plant grow on cane  Feature/ material made from Cane tubes a raw materials form making made reeds came from natural plant grow on cane  Size size #2 1/2  Valve Oil for Brass Pistol or Rotor instrument ,2fl oz (59ml) to 80ml  (Trumpet,Baritone,Tuba)  Volume 2fl oz (59ml) to 80ml  Rotor oil for Frenh Horn instrument net 59ml to 80ml  Volume 59ml to 80ml
Cane tubes a raw materials form making reeds came from natural plant grow on cane  Feature/ material made from Cane tubes a raw materials form making made reeds came from natural plant grow on cane  Size Bb soprano sax size #2 1/2  Tenor Saxophne Reeds, size #2 1/2, made from Cane tubes a raw materials form making reeds came from natural plant grow on cane  Feature/ material made from Cane tubes a raw materials form making made reeds came from natural plant grow on cane  Size size #2 1/2  Valve Oil for Brass Pistol or Rotor instrument ,2fl oz (59ml) to 80ml  (Trumpet,Baritone,Tuba)  Volume 2fl oz (59ml) to 80ml  Rotor oil for Frenh Horn instrument net 59ml to 80ml  Volume 59ml to 80ml
Feature/ material made from Cane tubes a raw materials form making reeds came from natural plant grow on cane  Size Bb soprano sax size #2 1/2  Tenor Saxophne Reeds, size #2 1/2, made from Cane tubes a raw materials form making reeds came from natural plant grow on cane  Feature/ material made from Cane tubes a raw materials form making reeds came from natural plant grow on cane  Size size #2 1/2  Valve Oil for Brass Pistol or Rotor instrument ,2fl oz (59ml) to 80ml  (Trumpet,Baritone,Tuba)  Volume 2fl oz (59ml) to 80ml  Rotor oil for Frenh Horn instrument net 59ml to 80ml  Volume 59ml to 80ml
material made from Cane tubes a raw materials form making reeds came from natural plant grow on cane  Size Bb soprano sax size #2 1/2  Tenor Saxophne Reeds, size #2 1/2, made from Cane tubes a raw materials form making reeds came from natural plant grow on cane  Feature/ material made from Cane tubes a raw materials form making reeds came from natural plant grow on cane  Size size #2 1/2  Valve Oil for Brass Pistol or Rotor instrument ,2fl oz (59ml) to 80ml (Trumpet,Baritone,Tuba)  Volume 2fl oz (59ml) to 80ml  Rotor oil for Frenh Horn instrument net 59ml to 80ml  Volume 59ml to 80ml
made reeds came from natural plant grow on cane  Size Bb soprano sax size #2 1/2  Tenor Saxophne Reeds, size #2 1/2 , made from Cane tubes a raw materials form making reeds came from natural plant grow on cane  Feature/ material made from Cane tubes a raw materials form making reeds came from natural plant grow on cane  Size size #2 1/2  Valve Oil for Brass Pistol or Rotor instrument ,2fl oz (59ml) to 80ml  (Trumpet,Baritone,Tuba)  Volume 2fl oz (59ml) to 80ml  Rotor oil for Frenh Horn instrument net 59ml to 80ml  Volume 59ml to 80ml
Size Bb soprano sax size #2 1/2  Tenor Saxophne Recds, size #2 1/2, made from Cane tubes a raw materials form making reeds came from natural plant grow on cane  Feature/ material made from Cane tubes a raw materials form making reeds came from natural plant grow on cane  Size size #2 1/2  Valve Oil for Brass Pistol or Rotor instrument ,2fl oz (59ml) to 80ml (Trumpet,Baritone,Tuba)  Volume 2fl oz (59ml) to 80ml  Rotor oil for Frenh Horn instrument net 59ml to 80ml  Volume 59ml to 80ml
Tenor Saxophne Reeds, size #2 1/2, made from Cane tubes a raw materials form making reeds came from natural plant grow on cane  Feature/ material made from Cane tubes a raw materials form making made reeds came from natural plant grow on cane  Size size #2 1/2  Valve Oil for Brass Pistol or Rotor instrument ,2fl oz (59ml) to 80ml (Trumpet,Baritone,Tuba)  Volume 2fl oz (59ml) to 80ml  Rotor oil for Frenh Horn instrument net 59ml to 80ml  Volume 59ml to 80ml
Tenor Saxophne Reeds, size #2 1/2, made from Cane tubes a raw materials form making reeds came from natural plant grow on cane  Feature/ material made from Cane tubes a raw materials form making made reeds came from natural plant grow on cane  Size size #2 1/2  Valve Oil for Brass Pistol or Rotor instrument ,2fl oz (59ml) to 80ml (Trumpet,Baritone,Tuba)  Volume 2fl oz (59ml) to 80ml  Rotor oil for Frenh Horn instrument net 59ml to 80ml  Volume 59ml to 80ml
materials form making reeds came from natural plant grow on cane  Feature/ material made from Cane tubes a raw materials form making reeds came from natural plant grow on cane  Size size #2 1/2  Valve Oil for Brass Pistol or Rotor instrument ,2fl oz (59ml) to 80ml (Trumpet,Baritone,Tuba)  Volume 2fl oz (59ml) to 80ml  Rotor oil for Frenh Horn instrument net 59ml to 80ml  Volume 59ml to 80ml
Feature/ material made from Cane tubes a raw materials form making reeds came from natural plant grow on cane  Size size #2 1/2  Valve Oil for Brass Pistol or Rotor instrument ,2fl oz (59ml) to 80ml (Trumpet,Baritone,Tuba)  Volume 2fl oz (59ml) to 80ml  Rotor oil for Frenh Horn instrument net 59ml to 80ml  Volume 59ml to 80ml
Size   size #2 1/2
Size   size #2 1/2
Valve Oil for Brass Pistol or Rotor instrument ,2fl oz (59ml) to 80ml (Trumpet,Baritone,Tuba) Volume 2fl oz (59ml) to 80ml  Rotor oil for Frenh Horn instrument net 59ml to 80ml Volume 59ml to 80ml
Valve Oil for Brass Pistol or Rotor instrument ,2fl oz (59ml) to 80ml (Trumpet,Baritone,Tuba)  Volume 2fl oz (59ml) to 80ml  Rotor oil for Frenh Horn instrument net 59ml to 80ml  Volume 59ml to 80ml
Valve Oil for Brass Pistol or Rotor instrument ,2fl oz (59ml) to 80ml (Trumpet,Baritone,Tuba)  Volume 2fl oz (59ml) to 80ml  Rotor oil for Frenh Horn instrument net 59ml to 80ml  Volume 59ml to 80ml
30   (Trumpet,Baritone,Tuba)
Volume 2fl oz (59ml) to 80ml  Rotor oil for Frenh Horn instrument net 59ml to 80ml  Volume 59ml to 80ml
Rotor oil for Frenh Horn instrument net 59ml to 80ml  Volume 59ml to 80ml
Volume 59ml to 80ml
Volume 59ml to 80ml
Trombono Slide I ubricant for trombono instruments not 20ml to
I From Done Singe Lubricant for trom Done instruments het Sum to
_ 32 50ml
Volume 30ml to 50ml
Adjustable Flute Stand made form stainless still or metal arm with
hard plastic
33 Feature/
material made form stainless still or metal arm with hard plastic
made made
Adjustable Alto Saxophone Stand made form stainless or metal still arm with hard plastic
material
made form stainless or metal still arm with hard plastic
Bass drum beater for marching band 14 to 15 inches long. Hand
made bass drum drum mallets.
35   Feature/ material   14 to 15 inches long. Hand-made bass drum drum
material 14 to 15 inches long. Hand-made bass drum drum made mallets.
Adjustable Tunnant Stand made forms stainly st
36 Adjustable Trumpet Stand made form stainless still or metal arm with hard plastic
NCMH REQ Supply and Delivery of Activity Therapy Section (ATS) Sumplies CY 2025 (Line Items)  Page 7 of 13

	TEV.		<u></u>			
-	Feature/					
	material	made form stainless still or metal arm with hard plastic				
	made	The state of the s				
	14 inch Coar	ted Bass Drum Head skin, Aluminum metal frame, 2 ply				
	mesh					
37	Feature/			-		
3/	material					
	made	Aluminum metal frame, 2 ply mesh				
	13 inch Coat	ted snare Drum Head skin , Aluminum metal frame ,2				
	ply mesh	od share Di ulit 110au skin , Aluminum metal frame,2				
ł	Feature/		ł	_		
38	}					
	material	Aluminum metal frame, 2 ply mesh				
	made					
<b> </b>						
		e Drum size 14 x 3.5 inch. With Drum head 35.5 cm,				
	height 12cm	, width 37cm	ļ			
39	Feature/					
	material	size 14 x 3.5 inch. With Drum head 35.5 cm, height				
	made	12cm, width 37cm				
	Snare Drum	stick, size 5A ,made in maple ,hickory wood				
	Feature/					
40						
	material	size 5A, made in maple, hickory wood	]			
	made					
' 	Quadro Tom Drums with Harnes for marching hand drum head					
		Drums with Harnes for marching band, drum head				
		0", 12", and 13"				
	Feature/					
41	material	Quadro Tom Drums with Harnes for marching band,				
	made	drum head				
	Size	8", 10", 12", and 13"				
		orn/Baritone Maintenace Cleaning Care kit, Including				
		orush, Valve brush, Flexible snake brush and cleaning				
	cloth					
42	Feature/					
	material	Cleaning Care kit, Including mouthpiece brush, Valve				
	made	brush, Flexible snake brush and cleaning cloth				
	Trombone M	laintenace Cleaning Care kit, Including mouthpiece				
		ole snake 80cm brush and cleaning cloth				
4.74	-		,	_j		
43	Feature/	Characterist Teachers and the state of the s				
	material	Care kit, Including mouthpiece brush, Flexible snake				
	made	80cm brush and cleaning cloth				
			LL	<u> </u>		

## **FINANCIAL OFFER:**

Please quote your <u>lowest/best offer</u> for the items below. Please do not leave blank items. Indicate "N/A" if the item is Not Applicable/Available.

	SUMMARY OF APPROVED BUDGET			OFFERED QU	JOTATIO	ON
A	Supply and Delivery of ctivity Therapy Section ATS) Supplies CY 2025 (Line Items)	Qty / UOM	Approved Budget for the Contract	Supply and Delivery of Activity Therapy Section (ATS) Supplies CY 2025 (Line Items)	Qty/ UOM	Total Offered Quotation
P	HYSICAL REHABILIT	TATION				
1	Core Stability Ball Trainer: heavy duty; professional and commercial use quality; at least 65cm diameter (26"); latex free; burst resistance materials; atleast 25.4cm (10") when fully inflated; non- skid base; textured dome with notches and quadrants; can hold atleast 155kg(300lbs); with handles; blue or gray; with hand pump; 1 yr warranty	4 / pcs	Unit Price: ₱ 6,875.00 Total Price: ₱ 27,500.00			
2	Exercise bands: atleast 4.5mm thick; continous loop; 105cm long; high resistance; 5-17lbs (2.25kg-80kg); 6 pcs/ set	1 / set	Unit Price: ₱ 1,650.00 Total Price: ₱ 1,650.00			
3	TENS/EMS machine: 2(dual) channel; LCD display; 9V battery; DC 9V adaptor; Lead wire; sticky pad/ electrode; atleast 3 modes; pouch or hard case; manual; 1 year warranty	6 / unit	Unit Price: ₱ 6,416.66 Total Price: ₱ 38,499.96			
4	Sticky pads: non- wooven fabric electrode pads; self adhesive; lower impedance; reusable; dry output	25 / set	Unit Price: ₱ 264.00 Total Price: ₱ 6,600.00			
5	resisting 6in1 design dumbell set/ barbell/ kettlebell/ push- up/ non-slip handle; heavy duty; collar knot; kettlebell handle; kettlebell base; 10kg- 30kg atleast 40cm connector rod; weights plates 1.2kg-2kg	3 / set	Unit Price: ₱ 1,870.00 Total Price: ₱ 5,610.00			
6	Hydrocollator Pack: Cervical size, 60 cm length; silica gel or	12 / pc	Unit Price: ₱ 1,650.00 Total Price: ₱ 19,800.00			

	bentonite clay filling; White				
7	Hydrocollator Pack: Half- size, 5"x12"; silica gel or bentonite clay filling; White	5 / set	Unit Price: ₱ 880.00 Total Price: ₱ 4,400.00		
8	Step-up platform and Riser: 65-70cm length; 25-30cm width; adjustable height 10-14 cm; heavy duty; black and silver color	1 / set	Unit Price: ₱ 1,100.00 Total Price: ₱ 1,100.00		
9	Rubber puzzle mat, 100cm x 100cm x 1"; heavy duty; dual color (pink & blue); interlocking; home and commercial use; odorless; non-slip, anti- tear flooring; 4pcs/ set	14 / set	Unit Price: ₱ 1,650.00 Total Price: ₱ 23,100.00		
RI	ECREATIONAL, SPORTS, A	AND WELLI	NESS SUPPLIES		
10	Jumping rope, PVC rope, Length: 287cm, tangle free	28 / pc	Unit Price: ₱ 308.00 Total Price: ₱ 8,624.00		
11	Twister, approx 24.5cm diameter, exercise gear, any color	11 / pc	Unit Price: ₱ 528.00 Total Price: ₱ 5,808.00		
12	Yoga mat, 6ft x 2 ft, any color	48 / pc	Unit Price: ₱ 396.00 Total Price: ₱ 19,008.00		
13	Jigsaw Puzzles 120pcs, any design, card board made	6 / set	Unit Price: ₱ 275.00 Total Price: ₱ 1,650.00	 	
14	Jigsaw Puzzles 260pcs, any design, card board made	6 / set	Unit Price:  ₱ 385.00  Total Price:  ₱ 2,310.00		
15	Jigsaw Puzzles 500pcs, any design, card board made	6 / set	Unit Price:		
-16	Jigsaw Puzzles 1000pcs,	6 / 664	Unit Price:  ₱ 770.00		
16	any design, card board made	6 / set	Total Price: <b>₱ 4,620.00</b>		
17	Basketball and Volleyball Ball storage rack, mobile frame, stainless steel, 112cm x 140cm x 35cm, with wheels.	2 / pc	Unit Price: ₱ 6,380.00 Total Price: ₱ 12,760.00		
18	jigsaw puzzle (dementia puzzles for elderly) dimensions: 26cmx21cmx4cm, material-cardboard,#of puzzle pieces 100 each piece is approximately 3.5"in width , puzzle size	6 / set	Unit Price: P 275.00 Total Price: P 1,650.00		

	when complete37.5cm x			
1	30 cm			
	1			
19	Working Board ( Busy Board for Alzheimers Patients) 6 gadgets chainlock, sasa latch , light switch, barrel bolt; board color white	2 / set	Unit Price: ₱ 2,750.00 Total Price: ₱ 5,500.00	
20	Coloring book for Seniors/ Sets of 4 Books( color by numbers, flower coloring, animals, flowers, food, objects) Paper bound, page size 8"x11", 40 pages/book	6 / set	Unit Price: ₱ 1,375.00 Total Price: ₱ 8,250.00	
21	Senior Cricket set 30 in (76cm) cricket stumps 33in.(84cm) cricket bat, incrediballs, carry bags	2 / set	Unit Price: ₱ 9,350.00 Total Price: ₱ 18,700.00	
22	Croquet Set; 36' Original mallerts filled with black cushion grips fitted, 3lbs*368; Pro 16 natch balls, weight 1lb, 3 5/8 diameter.	2 / set	Unit Price:  P 8,578.90  Total Price:  P 17,157.80	
	NCMH BAND SUPPLII	ES		
23	Clarinet Reeds, Bb Clarinet size #3 , made from Cane tubes a raw materials form making reeds came from natural plant grow on cane	4 / box	Unit Price: ₱ 3,190.00 Total Price: ₱ 12,760.00	
24	Clarinet Reeds, Bb Clarinet size #2 1/2, made from Cane tubes a raw materials form making reeds came from natural plant grow on cane	11 / box	Unit Price: ₱ 3,300.00 Total Price: ₱ 36,300.00	
25	Clarinet Reeds, Bb Clarinet size #3 1/2, made from Cane tubes a raw materials form making reeds came from	2 / box	Unit Price: ₱ 3,190.00 Total Price:	
	natural plant grow on		₱ 6,380.00	
26	cane Alto Saxophone Reeds, Eb Alto Sax size #2 1/2, made from Cane tubes a raw materials form making reeds came from natural plant grow on cane	2 / box	Unit Price: ₱ 3,850.00 Total Price: ₱ 7,700.00	
27	Alto Saxophone Reeds, Eb Alto sax size #3, made from Cane tubes a raw materials form making reeds came from	2 / box	Unit Price: ₱ 3,300.00 Total Price: ₱ 6,600.00	

	natural plant grow on cane				
28	Soprano Saxophne Reeds, Bb soprano sax size #2 1/2 , made from Cane tubes a raw materials form making reeds came from natural plant grow on cane	1 / box	Unit Price: ₱ 3,300.00 Total Price: ₱ 3,300.00		
29	Tenor Saxophne Reeds, size #2 1/2 , made from Cane tubes a raw materials form making reeds came from natural plant grow on cane	3 / box	Unit Price: ₱ 3,850.00 Total Price: ₱ 11,550.00		
30	Valve Oil for Brass Pistol or Rotor instrument ,2fl oz (59ml) to 80ml ( Trumpet,Baritone,Tuba)	50 / pc	Unit Price: ₱ 715.00 Total Price: ₱ 35,750.00		
31	Rotor oil for Frenh Horn instrument net 59ml to 80ml	8 / pc	Unit Price:  ₱ 660.00  Total Price:  ₱ <b>5,280.00</b>		
32	Trombone Slide Lubricant for trombone instruments net 30ml to 50ml	12 / pc	Unit Price: ₱ 715.00 Total Price: ₱ 8,580.00		
33	Adjustable Flute Stand made form stenless still or metal arm with hard plastic	2 / pc	Unit Price: ₱ 1,650.00 Total Price: ₱ 3,300.00		
34	Adjustable Alto Saxophone Stand made form stenless or metal still arm with hard plastic	2 / pc	Unit Price: ₱ 2,200.00 Total Price: ₱ 4,400.00		
35	Bass drum beater for marching band 14 to 15 inches long. Hand made bass drum drum mallets.	2 / pc	Unit Price: ₱ 1,100.00 Total Price: ₱ 2,200.00		
36	Adjustable Trumpet Stand made form stenless still or metal arm with hard plastic	2 / pc	Unit Price: ₱ 1,100.00 Total Price: ₱ 2,200.00		
	14 inch Coated Bass Drum Head skin ,		Unit Price:  ₱ 1,100.00		
37	Aluminum metal frame ,2 ply mesh	3 / pc	Total Price: <b>P 3,300.00</b>		
38	13 inch Coated snare Drum Head skin , Aluminum metal frame ,2 ply mesh	2 / pc	Unit Price: ₱ 1,100.00 Total Price: ₱ 2,200.00		
39	Piccolo Snare Drum size 14 x 3.5 inch. With Drum head 35.5 cm, height 12cm, width 37cm	1 / pc	Unit Price: ₱ 9,900.00 Total Price: ₱ 9,900.00	·	

40	5A ,made in maple ,hickory wood	3 / pair	₱ 1,100.00 Total Price: ₱ 3,300.00		
41	Quadro Tom Drums with Harnes for marching band, drum head size are 8", 10", 12", and 13"	1 / set	Unit Price: P 11,000.00 Total Price: P 11,000.00		
42	Trumpet/ Horn/ Baritone Maintenace Cleaning Care kit , Including mouthpiece brush, Valve brush, Flexible snake brush and cleaning cloth	12 / box	Unit Price: ₱ 440.00 Total Price: ₱ 5,280.00		
43	Trombone Maintenace Cleaning Care kit , Including mouthpiece brush, Flexible snake 80cm brush and cleaning cloth	6 / box	Unit Price: ₱ 440.00 Total Price: ₱ <b>2,640.00</b>		
TOTAL AMOUNT:			Four hundred twenty-one thousand five hundred TOTAL AMOUNT: seventeen pesos and 76/100.  (P421,517.76)		AMOUNT:
		Brand and model: Delivery period: Warranty:  Price validity: Payment terms:		Max of 7 Calendar Days Min of 3 months (supplies) Min of 1 year (equipment) Min of 30 Calendar Days Min of 30 Calendar Days	
			SUBMITT	ED AND CONFORMED BY	<b>′</b> :
			PRIN	TED NAME AND SIGNATURE	E OF REPRESENTATIVE
		POSITION/DESIGNATION			

Unit Price:

Snare Drum stick, size

EMAIL ADDRESS